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Answers

Chapter 4 is not a favorite of the people who prepare the FE Exam. Probably not a single
problem from this chapter will appear on the exam, but if some did, they might be like these:

FE4.1 Given the steady, incompressible velocity distribution V = 3xi + Cyj + Ok, where C is
a constant, if conservation of mass is satisfied, the value of C should be
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FE4.2 Given the steady velocity distribution V = 3xi + 0j + Cyk, where C is a constant, if the
flow is irrotational, the value of C should be
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FE4.3 Given the steady, incompressible velocity distribution V = 3xi + Cyj + Ok, where C is
a constant, the shear stress 7, at the point (x,y,z) is given by
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